MMM generation with ATLAS Starting point: standard triple boop k = M = MC = C+AB for 1= 0:1: N-1 for j = 0 = 1 = M - 1 for k = 0 : 1 : K - 1 c;j = (ij + a; b kj Important cases (from most to least): - and two out of (N, K, 17) are small - one out of (N, K, M) is small - hove out of (N, K, M) is shall Reason: based on how it is used in side LAPACK 1.) loop order: inj, k loops can be permeted into any order - ijk: Bisvenseel, good if M<N - vik: A ", "N<M ATCAS generades versions for both - other choices are bad, e.g., kij: poor temporal locality co.r.t. C 2.) blocking for eache we assume for somethicity M_{i3} (N, M, Kfor i = 0 : No : N-1 for i = 0: No: M-1 for k= 0: No: K-1 for i' = @: 1: i+ NB-1 mini- MITH] for y'= j:1: j+ N12-1 for "k" = K: 1: K+ N15-1 Ci'j' = Ci'ji + Qi'k' Skiji

for
$$i = 0: N_{B}: N-1$$

for $j = 0: N_{B}: N-1$
for $k = 0: N_{B}: K-1$
for $k = 0: N_{B}: K-1$
for $i' = i: N_{B}: j + N_{B} - 1$
for $k' = k + k + k - 1$
for $k'' = k' : (1: k' - k - 1)$
micro-MMIT
 $\begin{cases}
for k'' = i' : (1: i' + M - 1) \\
for j'' = j' : (1: j' + M - 1) \\
for j'' = j' : (1: j' + M - 1) \\
for j'' = j' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' = j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' = j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' = j'' = j'' : (1: j' + M - 1) \\
for j'' = j'' = j'' = j'' = j'' : (1: j' + M - 1) \\
for j'' = j''$

Comes a little later